B+ = BBk
FoH R
RRE R B

RFoék (GR) 13m91 W BT (E H - ) 2011
B Rk (K)) 14m07 Kl EXRE - F4) 2017 1010 13:15 ¥ R
w B
JERE | g U ' 3| [hy7°8 e ‘
BA7 | BRIE | o - (K4 g 1EIA | 2EH | 3EH b | s Al H | 5EIE | 6EIE | Foék ap/h
12m84 | 12m97] X [12m97] 8 [12m82|12m75| X | 12m97
1 15] 1904|3  FH7ZE(3) NG +0.8 | +0.1 +0. 1 +0.3 | +0.9 +0. 1
11m29 [ 12m00 | 12m27 [ 12m27] 3 | 12m86 | 12m25 | 12m90 | 12m90
2 12| 1001|¥F[H  FEHE(3) FEE I +0.4 | +1.0 | +1.9 ] +1.9 +1.9 ] -0.3 ] +1.2 | +1.2
12m55 [ 12m32 | 12m69 | 12m69 | 6 | 12m87 | 12m56 | 12m80 | 12m87
3 11 7934kl #HE Q) 7354 +0.1 ] 0.1 | +1.0 ] +1.0 +1.6 | +0.4 | +1.2 | +1.6
12m80 [ 12m51 | 12m64 | 12m80 7 | 12m72] 12m59 | 12m64 | 12m80
4 13| 18874 FIK(2) UNES 0.2 ] +0.4 ] +1.9 ] -0.2 +1.1 | +1.4 | +1.1] -0.2
12m17 [ 12m31 | 11m88 | 12m31] 4 [ 12m55[ 12m26 | 12m71 | 12m71
5 14 1668]|F/K JH(3) AAFN -0.1] +0.3 ] +1.9 ] +0.3 +1.7] 0.0 | 2.0 ] +2.0
X |12m19] — J12m19] 2 [ 12m03| 11m66 [ 12ma4 | 12ma4
6 7] 604|FEA  FEKR(3) =5 +0. 8 +0. 8 +0.5 | +0.5 | 1.5 | +1.5
12m36 [ 11m84 | 11m70 | 12m36 | 5 | 12m16] 12m11 | 12m28 ] 12m36
7 4| 1350|[ H g (3) JEA +2.9 ] +1.6 | +1.3 | +2.9 +1.3 | +1.6 | 1.3 ] +2.9 *F6
12m01 [ 12m17 ] 11m93 | 12m17] 1 X X [ 11m93 ] 12m17
8 1| e27| A BEZEG) A JE +2.6 | +1.8 | -0.4 | +1.8 +1.0 | +1.8
X |12mi6] X [12ml6 12m16
9 10f 1000|fAE  HECE(3) PRI +0. 8 +0. 8 +0. 8
1mo3 [ 12mi2] X [ 12m12 12m12
10 < IR L1 P N(G) s uE +0.8 | +0.9 +0. 9 +0.9
11m88 [ 11m83 | 12m09 | 12m09 12m09
11 5| 1004k fL(3) FEE I +1.8 | +1.5 | +0.9 ] +0.9 +0.9
11m94 [ 11m49 | 11m85 | 11m94 11m94
12 6] 105[FH BEK(2) B +2.5 | +1.8 | 0.9 | +2.5 +2.5 *F3
11m81 [ 11m57 [ 11m75 | 11m81 11m81
13 29| 1563|fMAH  HE—(3) il +1.4 | +1.7 | +1.7 | +1.4 +1.4
11m34 [ 11m45 | 11m79 | 11m79 11m79
14 25|  1497hnEE  RE (3) pry i +1.5 | +1.7 ] +2.1 ] +2.1 +2.1 *F2
1m75| X X [ 1im75 11m75
15 27| 880|A&RH  ZH (3) Bl +1.6 +1.6 +1. 6
11m68] X [ 1im61] 11m68 11m68
16 3| 76| EA(2) jeicEl +1.9 +1.0 | +1.9 +1.9
1m66[ X [1im34] 11m66 11m66
17 2| 1667\ HRuE (3) B +3. 0 0.0 | +3.0 +3. 0 *F3
11m60 [ 11m32 | 11m33 | 11m60 11m60
18 21 782|HUEH B (2)  [BERk +2.9 | +1.5 | +2.6 | +2.9 +2.9 *F2
11m42 [ 11m59 | 11m35 | 11m59 11m59
19 24 87|(FiE izt (3) JSERE +3.0 | 2.4 +1.5 | +2.4 +2. 4 *[3
11m02 [ 11m49 | 11m45 | 11m49 11m49
20 26| 1277|@H KRZEB) EF +1.2 ] 0.0 | +1.4 | 0.0 0.0
11m29 [ 11m32] 11m36 | 11m36 11m36
21 28]  SI2FRPIE e () AR +1.4 | +2.0 | +1.0 ] +1.0 +1.0
Imit] X X [ 11ml1 11ml1
22 23] 186|HiH 5 (3) JURL +1.9 +1.9 +1.9
X X X
16| 1715|HEBF HEE (2) FEAE S T NM
X X X
17)  970|H  ¥RIK (2) fidk NM
X X X
18| 2037|m (@ & M
X X X
19]  435|R B fEH(3)  |IREF NM
8| 1568|430 Fme) @ DNS
20 910z BEA ) A DNS
22| 3250 |yl SR (2) Ik DNS
30| 1946|# R (2) - HH B DNS

FLBI DNS:&R35 NMEREREL +F2:2[E B AN RB&REE *F33E BN ARRE +F6:6E B A NRES




